£8 HTEHNISH. #REBRUVHESHEES — XHAR (ER1645)

BTH IE# | #ERAM ﬂiﬁ&ﬂiﬁﬁ%“ BTE TR | XA | NESHTES
(T i) (A) (FA) (T18) (A) (FA)

X&® —TH 5 115 290496llt KA = T8 7 50 26,533
A#ER —TH 12 241 686,5581F & — T B 1 X X
X&R =TH 8 76 100955 R =T B 3 106 329,767
X&EX WMTH 18 174 2316870 & =TBH 12 209 355,177
XHFR ATH 15 124 198251|fh & Mm@ T B 3 54 93,145
XHFEM —TEH 31 318 463320 =R T T H 1 X X
X&%EP ZTH 38 380 471806[h = AR TH 5 73 77,207
X&%EHE =TH 44 409 689,837f = +£ T H 6 58 81,682
X&m mWTEH 31 388 727759 & NTH 24 253 299,438
X#%E ETH 19 176 261,285|ith + — T B 5 44 55,592
X&Ed —TH 20 192 317063tk £ =T B 6 36 30,070
X&+® =TH 8 192 296239t £ =T B 12 116 234,056
X#FH =TH 13 101 95898/t Lt W T H 7 60 116,196
X&#B®E —TH 44 549 859,133llth F H T B 7 113 260,852
X#%BE —TH 37 431 561,713 £ A T B 5 27 35,786
X#%@E =TH 19 284 381356t £ £ T B 3 67 122,736
X%fE WTHE 31 625 1118290t £ J\ T B 12 152 223,282
X&EH RTH 9 84 95258l iK™ —TH - - -
X#HAE ATH 3 26 31594k E =TH 114 2,429 6,935,311
X#HEAE £tTEHE 18 433 2344873|["EE =TH 2 X X
X#FL —TEH 1 X XX # —TH = = =
X#FL =ZTEH 1 X XX % —TEH - = -
X#LE =TH 9 95 207671 & =T H - - -
XHd mMTEHE 3 22 45361|%® &/ MW TEH - - =
XHdkE ETH 4 46 1881213 & HETH ~ - =
X#Ed ATH 8 70 128449|5R # AKTH 1 X X
AHEXB—TEH 5 93 238234\ ® — T B 3 83 657,234
XHEXABZ=TEH 4 75 90115k B & = TH 48 1,036 2,669,358
{8 —TH = = -|lEE® =TH = = =
THE —TH = = - Es WTH 19 294 799,902
EMB =TH = ~ -l ® ETH = = -
EME MTHE = = - EE ATH - - -
TS RATEH - - -l s £ TH = = -
LB ATH = = -lx_&F 4 X & 857 12,829 30,198,919
BMms —TEH 8 120 148,824"'§ o Hr 1 X X
BiNE —TH 11 240 721,605||7G o ) 1 X X
W ¥ —TH - - - |4t &% By 3 28 47,732
W ¥ =ZTH 1 X X(H B B A 7 108 166,720
W E*¥F =TH 2 X X||H B @ w & A 1 X X
W ¥ WTH 1 X X|HEEHA—TE 4 34 28,560
THOHFLE - - -|HEBHF=-TE = = =~
RFA —TEH 12 175 257,990|H MM =T B = = =
EEA -TH 3 36 94,754||H B iR % T B = - -
mKkA —TH 6 63 18977|HEBRHETE 2 X X
mEA =ZTH 6 56 97,946|8 & X ¥ H = = =
HERA =TH 4 46 612738 DA —TH 3 18 24,979
ERKA ETH 2 X XX =TH 15 409 961,558
mERA RTH 2 X X@gokx =TH 9 83 138,597
mERA RTH 5 53 7200001F B —TH 8 136 225467
BERA —TH 2 X X+ B —TBH 29 424 795,450
b KA ZTH 5 37 32508|F ™ =TBH 5 39 53,573
pFEA =TH 6 111 219671|FANMR—TB 1 X X
HRA —TH 9 428 1,110,725\l AW R =T B 2 X X
BmEA ZTH 5 52 85871 A AR —TH 2 X X
K2 —TH 3 66 T3BIGA MR —TH 20 312 511,767
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BITHE IHEWY | XA | HESHEES RITE IEY | kAN | HERHARSE
(T3H) (A) (BFA) (T19) (A) (AA)

ANE =TH - - -+ —TH 15 80 84,014
ANR MTH - - - &+ =TH 11 111 170,786
ANK ETH 9 188 299693ll%k & =T B 13 260 367,185
AMNR ATH - - -lEAS —TH 13 194 349,780
¥R —TEH 4 36 37075 A<M =TH 12 88 98,425
B¥®R -TH - - -|®A<® =TH 19 241 288,264
BFE =TEH 3 29 14472 B A —TH 25 259 356,593
tF¥® —TH 1 X XEAEB ZTH 24 201 350,518
tF®E -TH 2 X @A =TH 25 586 662,865
tF%® =TEH 1 X X[@E/A$ MTH 29 344 448,545
BIIR —TE ~ - -lEA® —TH 31 347 467,315
GlIET —ZTH 1 X xlﬁimﬁﬂ —TE 40 464 698,618
it —TH 27 333 736418 A< =TH 42 598 1,312,465
Bt = TH 33 M 1,181,991|[fh A% — T B 17 148 176,588
EE® —TH 1 X 17.150fp A% =TH 6 98 172,011
B8 —TEH 2 X 20229l < =T B 7 52 50,512
¥ES =TH 3 19 29979(fb N WTH 8 83 99,303
XEL mTH 3 15 23170 FHhF —TH 23 271 439,003
EEHS ETEH 3 44 81.02|FhF =TH 48 723 1,980,424
BMEHX —TEH 2 X XFTHRF =ZTH 10 83 93,568
BME® -TH = = -IFhAF MTEH 17 418 1,946,857
HE® =TEH = = -l B —TBH 18 252 307.425
MEHY WTEH 1 X Xj= O =TBH 32 443 715,836
HEA ETH 3 23 2069 O =TH 39 905 1,510,359
Ltith&ds —TEH 3 21 71064|m& A0 —TB8H 2 X X
tit&E =TH 1 X X[ExQ =TEH 5 61 57,736
tih&s =TH 12 86 153692(lR%X A =TBH 2 X X
th& mMTH 1 X X|& &Il —TH 17 177 359,296
E#s FTH 13 117 135704/ )l —TH 36 1,064 3,726,049
B o X & 242 3.625 6.146693| M H —TH 4 28 42,221
RHte —TH 31 453 965,056 HE —TH 22 244 509,135
Kt —TH 12 143 240727l E —TH 13 107 143,834
EHts =TH 14 204 333.163(lF A —TH 28 228 316,235
Hits WTH 24 389 486,808[F WA =TH 18 144 135,003
S RTH 51 631 1,354,758|[F @ — T B 4 34 53,293
it KTH 20 355 753,150(@ WE — T B 5 55 41,245
Fftas —TH 9 87 82572l WA =TH 7 69 93,932
wms —TH 28 284 435174||F A MTH 5 39 28,493
EHS =TH 33 346 451339|[F B ETE 3 45 52,224
mts BMTH 12 83 79.361|[FHHE ATEHE 1 X X
dtsts —TH 28 272 302982(|IFEEH +t TH 2 X X
e —TH 19 257 496,861||FE WA A TH 1 X X
F H jE H 14 1,254 7588015/ B — T B 12 134 232,320
¥ H —TEH 20 161 227695% B =T B 5 30 50,249
¥ B =TBH 9 47 47910 B =T H 7 44 50,367
B B =TA8 6 44 65,825 FH T B 2 X X
¥ | T B 7 60 78205 B H T H 4 33 42,679
N A RTEH 5 37 41,355|;# B ABT—T B 6 87 244,247
B} BH ANTBH 7 42 25449 HABI — T H 5 167 338,347
APHA —TH 33 316 1,274,385|(57 B — T B 5 32 21,673
AFE =TH 44 670 1,535603|(%T W EA =T B 2 X X
AFHA =TEH 12 130 170043}l B =TH 15 149 204,108
PHZEE—TH - - - | B 4 X B 1.200 16,572 37,009.607
PHEAEZ-TEH - = =

FHZEHE=TEH - - -I& it 2,299 33,026 73,355,219
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